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public class Movie {

private final String title;

private final Duration runningTime;

private final Money fee;

private final DiscountPolicy policy;

public Movie(String title, Duration runningTime, Money fee, DiscountPolicy policy){
this.title = title;
this.runningTime = runningTime;
this.fee = fee;
this.policy = policy;

}

Money calculateFee(Screening screening, int count){
return policy.calculateFee(screening, count, fee);

}



abstract class DiscountPolicy {

private Set<DiscountCondition> conditions = new HashSet<>();

public void addCondition(DiscountCondition condition){
conditions.add(condition);

}

public void copyCondition(DiscountPolicy policy){
policy.conditions.addAl1l(conditions);

}

public Money calculateFee(Screening screening, int count, Money fee){
for(DiscountCondition condition:conditions){

if(condition.isSatisfiedBy(screening, count)) return calculateFee(fee);

}

return fee;

}

protected abstract Money calculateFee(Money fee);






public class AmountPolicy extends DiscountPolicy {
private final Money amount;
public AmountPolicy(Money amount){
this.amount = amount;
}
@verride
public Money calculateFee(Money fee) {
return fee.minus(amount);

}
}

public class PercentPolicy extends DiscountPolicy {

private final Double percent;

public PercentPolicy(Double percent){
this.percent = percent;

}

@verride

public final Money calculateFee(Money fee) {
return fee.minus(fee.multi(percent));

}









interface DiscountCondition{
boolean isSatisfiedBy(Screening screening, int audienceCount);

}

public class PeriodCondition implements DiscountCondition {

private final LocalDateTime whenScreened;

public PeriodCondition(LocalDateTime whenScreened){
this.whenScreened = whenScreened;

ks

@verride

public boolean isSatisfiedBy(Screening screening, int audienceCount) {
return screening.whenScreened.equals(whenScreened);

}



interface DiscountCondition{
boolean isSatisfiedBy(Screening screening, int audienceCount);

}

public class SequenceCondition implements DiscountCondition {

private final int sequence;

public SequenceCondition(int sequence)
this.sequence = sequence;

}

@verride

public boolean isSatisfiedBy(Screening screening, int audienceCount) {
return screening.sequence == sequence;

}



public class TicketSeller {
private TicketOffice ticketOffice;
public void setTicketOffice(TicketOffice ticketOffice){
this.ticketOffice = ticketOffice;
}
Reservation reserve(Customer customer, Theater theater, Movie movie, Screening screening, int count){
Reservation reservation = Reservation. VONE;
Money price = movie.calculateFee(screening, count);
i1f(customer.hasAmount(price)){
reservation = ticketOffice.reserve(theater, movie, screening, count);
if(reservation != Reservation./NOVE) customer.minusAmount(price);

}

return reservation;



public class TicketSeller {
private TicketOffice ticketOffice;
public void setTicketOffice(TicketOffice ticketOffice){
this.ticketOffice = ticketOffice;
}
Reservation reserve(Customer customer, Theater theater, Movie movie, Screening screening, int count){
Reservation reservation = Reservation. VONE;
Money price =
i1f(customer.hasAmount(price)){
reservation = ticketOffice.reserve(theater, movie, screening, count);
if(reservation != Reservation./NOVE) customer.minusAmount(price);

}

return reservation;



public class TicketSeller {
private TicketOffice ticketOffice;
public void setTicketOffice(TicketOffice ticketOffice){
this.ticketOffice = ticketOffice;
}
Reservation reserve(Customer customer, Theater theater, Movie movie, Screening screening, int count){
Reservation reservation = Reservation. VONE;
Money price = ticketOffice.calculateFee(movie, screening, count);
i1f(customer.hasAmount(price)){
reservation = ticketOffice.reserve(theater, movie, screening, count);
if(reservation != Reservation./NOVE) customer.minusAmount(price);

}

return reservation;



public class TicketOffice {
private Money amount;
private Map<Theater, Double> commissionRate = new HashMap<>();
public TicketOffice(Money amount){this.amount = amount;}
boolean contract(Theater theater, Double rate){}
boolean cancel(Theater theater){}
Money calculateFee(Movie movie, Screening screening, int count) {
return movie.calculateFee(screening, count).multi((double)count);

ky
Reservation reserve(Theater theater, Movie movie, Screening screening, int count){
if(!commissionRate.containsKey(theater) || ...) return Reservation./VOVE;
Reservation reservation = theater.reserve(movie, screening, count);
if(reservation != Reservation.VOVE){
Money sales = movie.calculateFee(screening, count).multi((double)count);
Money commission = sales.multi(commissionRate.get(theater));
amount = amount.plus(commission);
theater.plusAmount(sales.minus(commission));
¥
return reservation;
¥



public class TicketOffice {
private Money amount;
private Map<Theater, Double> commissionRate = new HashMap<>();
public TicketOffice(Money amount){this.amount = amount;}
boolean contract(Theater theater, Double rate){}
boolean cancel(Theater theater){}
Money calculateFee(Movie movie, Screening screening, int count) {
return movie.calculateFee(screening, count).multi((double)count);

I
Reservation reserve(Theater theater, Movie movie, Screening screening, int count){
if(!commissionRate.containsKey(theater) || ...) return Reservation./VOVE;
Reservation reservation = theater.reserve(movie, screening, count);
if(reservation != Reservation.VOVE){
Money sales = ;
Money commission = sales.multi(commissionRate.get(theater));
amount = amount.plus(commission);
theater.plusAmount(sales.minus(commission));
}
return reservation;
}



public class TicketOffice {
private Money amount;
private Map<Theater, Double> commissionRate = new HashMap<>();
public TicketOffice(Money amount){this.amount = amount;}
boolean contract(Theater theater, Double rate){}
boolean cancel(Theater theater){}
Money calculateFee(Movie movie, Screening screening, int count) {
return movie.calculateFee(screening, count).multi((double)count);

ky
Reservation reserve(Theater theater, Movie movie, Screening screening, int count){
if(!commissionRate.containsKey(theater) || ...) return Reservation./VOVE;
Reservation reservation = theater.reserve(movie, screening, count);
if(reservation != Reservation.VOVE){
Money sales = calculateFee(movie, screening, count);
Money commission = sales.multi(commissionRate.get(theater));
amount = amount.plus(commission);
theater.plusAmount(sales.minus(commission));
¥
return reservation;
¥



